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মূল utরপেt সমসয্ার সমাধান করেত হেব। সকল সংখয্া iংেরিজেত েলখা। pিতিট pেŲর মান সমান। pŲgেলা কািঠেনয্র kমবধর্মান 
kেম সাজােনা হেয়েছ। সমসয্াgেলার সমাধােন আংিশক নmর pদান pেযাজয্। 

 
1. যিদ 2010321 2010....321S   হয় তাহেল S েক 2 dারা ভাগ করেল ভাগেশষ কত হেব তা িনণর্য় কর। 
Let 2010321 2010....321S  . What is the remainder when S is divided by 2? 
 
 

2. ABC সমিdবাh িtভুেজর B েকাণিট সমেকাণ eবং AB = 3। eর েযেকান eকিট শীষর্েক েকnd কের eকিট eকক বয্াসােধর্র বtৃ 
আঁকা হল। িtভুেজর েয aংশ বৃেtর anভরূ্k নয় তার সেবর্াc েktফল েবর কর। 
Isosceles triangle ABC is right angled at B and AB = 3. A circle of unit radius is drawn with 
its centre on any of the vertices of this triangle. Find the maximum value of the area of that 
part of the triangle that is not shared by the circle. 
 
 

3. eকিট ধারােক িনেচর সংjা aনুযায়ী গঠন করা হলঃ 
A(1) = 1 
A(n) = f(m) সংখয্ক f(m) eবং তার পর f(m) সংখয্ক 0;  

eখােন m হেc A(n-1) eর aংক সংখয্া। 
A(30) িনণর্য় কর। uেlখয্ m েক 9 dারা ভাগ করেল েয ভাগেশষ থােক েসিটi f(m)।  
A series is formed in the following manner: 

A(1) = 1; 
A(n) = f(m) numbers of f(m) followed by f(m) numbers of 0;  
m is the number of digits in A(n-1)  

Find A(30). Here f(m) is the remainder when m is divided by 9. 
 
 

4. eকিট বtৃ  eর েভতের P  eকিট িবnু । ei িবnু িদেয় dিট জয্া আঁকা হল যারা পরsেরর uপর লm। ei জয্া dিট বtৃেক ঘিড়র 
কাটার িদেক a; b; c; d ei চারিট ভােগ ভাগ কের যার মেধয্ a aংশিট বৃেtর েকndেক ধারণ কের। েদখাo েয, [a] + [c]  
[b] + [d], eখােন [x]  dারা x eর েktফল িনেদর্শ কের। 
Given a point P inside a circle , two perpendicular chords through P divide  into distinct 
regions a; b; c; d clockwise such that a contains the centre of .  
Prove that  [a] + [c]  [b] + [d], where [x] = area of x. 
 
 
5. eকিট 2010 বাh িবিশŷ সুষম বhভুেজর শীষর্gেলা বয্বহার কের কতgেলা সুষম বhভুজ আঁকা সmব? (2010 বাh িবিশŷ সুষম 
বhভুেজর শীষর্িবnুgেলার kম মুখয্ নয়।)  
How many regular polygons can be constructed from the vertices of a regular polygon with 
2010 sides? (Assume that the vertices of the 2010-gon are indistinguishable) 
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6. a eবং b dিট পূণর্ সংখয্া েযন 1  a, b  2010 eবং a  b; eমন কতgেলা kমেজাড় (a, b) আেছ েযখােন a2 + 
b2,  5 dারা িবভাজয্? a + b  eর মান েকান মােনর জনয্ a2 + b2 সবেচেয় বড় হেব?  
a and b are two positive integers both less than 2010; a  b. Find the number of ordered 
pairs (a, b) such that a2 + b2 is divisible by 5. Find a + b so that a2 + b2 is maximum.  
 
7. ABC িtভেুজর AC > AB । eর BC বাhর লmসমিdখĎক eবং CAB েকাণ eর anসর্মিdখĎক P িবnুেত েছদ কের। P 
েথেক AB eবং AC বাhর uপের aিíত লmdয় বাhdিটেক যথাkেম X eবং Y িবnুেত েছদ কের। XY eবং BC eর েছদিবnু Z, 

ZC

BZ eর মান িনণর্য় কর। 

Let ABC be a triangle with AC > AB: Let P be the intersection point of the perpendicular 
bisector of BC and the internal angle bisector of angle CAB: Let X and Y be the feet of the 
perpendiculars from P to lines AB and AC; respectively. Let Z be the intersection point of 

lines XY and BC: Determine the value of 
ZC

BZ  

 
8. eমন সকল েমৗিলক সংখয্া p eবং পূণর্ সংখয্া a, b (ঋণাtকo হেত পাের) িনণর্য় কর েযন pa + pb  eকিট মূলদ সংখয্ার বগর্ 
হয়। 
Find all prime numbers p and integers a and b (not necessarily positive) such that pa + pb  

is the square of a rational number. 
 

 

9. (x + y)2010 eর িবsৃিতেত িবেজাড় সহেগর সংখয্া িনণর্য় কর। 
Find the number of odd coefficients in expansion of (x + y)2010. 
 
 10. a1, a2, . . . , ak, . . . , an ধনাtক বাsব সংখয্ার eমন eকিট ধারা যার েকান dিট পদi সমান নয় eবং  a1 < a2 < . . 
. . . < ak eবং ak > ak+1 > . . . > an । eকিট ঘাসফিড়ং মূলিবnু O েথেক বাsব ak বরাবর ডানিদক বরাবর যথাkেম a1, 
a2, . . . , an দূরtgেলা aিতkম কের লািফেয় লািফেয় চেল। pমাণ কর েয, সবার ডােন েপৗঁেছ িগেয় েস a1, a2, . . . , an ধারার 
পদgেলােক েকান eক kেম aনুসরণ কের বামিদক বরাবর লািফেয় লািফেয় েসখান েথেক মূলিবnুেত িফের আসেত পাের েযন যাবার 
পেথ েস েয িবnুgেলােত েনেমিছল আসার সময় েসgেলার েকানিটেতi না েনেম থােক (মূলিবnু eবং সবর্ডােনর িবnু হল বয্িতkম) । 
a1, a2, . . . , ak, . . . , an is a sequence of distinct positive real numbers such that a1 < a2 < . . 
. . < ak  and ak > ak+1 > . . . > an. A Grasshopper is to jump along the real axis, starting at 
the point O and making n jumps to the right of lengths a1, a2, . . . , an respectively. Prove 
that, once he reaches the rightmost point, he can come back to point O by making n jumps 
to the left of lengths a1, a2, . . . , an in some order such that he never lands on a point which 
he already visited while jumping to the right. (The only exceptions are point O and the 
rightmost point) 
 
 


